
  

Pedestal Analysis

Comparaison Cob a and Cob c

Slb 0 cob c → without extra capacitance

Slb 2 cob a → with extra capacitance (the decoupling capacitances are 
placed between avdd and gnd, 4 cms cap of ~150uF)

Expecting less noise for the cob a than cob c





  

MIP run 32014 (chip 2)

● Pedestal Widths 

● Ratio of good entries over tagged entries

● Pedestal Mean









  

The two COB got quitely the same pedestals caracteristics.

Are the extra coupling capacitances usefull ?

Next step are :
● Comparing run before and after adding capacitances for COB a

(with gain of 3,6pF)

● Study the presence of double pedestal

● Study the retrigers and plane events


	Diapo 1
	Diapo 2
	Diapo 3
	Diapo 4
	Diapo 5
	Diapo 6
	Diapo 7

